H H No.2 /K E Ml & #F RS FSHFE)

TH El =<Xiva LN 4 A 5H 6 H 7H 8 H 94 10 H 11H 12H 1H 2 3H
PN S — — i 5l = i) = = i) i - = i = i
| BRI 24y — 9:45 10:46 13:45 9:36 10:40 10:15 9:40 11:21 - 9:20 9:48 10:30 10:05
| AKIR C — 19.7 21.0 21.0 25.0 25.8 25.9 12.8 13.5 - 5.5 3.2 7.5 17.6
H K C — 15.6 16.2 16.0 16.5 16.8 16.0 14.7 14.8 - 14.0 13.7 14.2 15.2
IKRFEAA P/ pH R E IRFLEE) — — - 7.8(19°C) - - 7.6(20°C) - = 7.5(17°C) | 7.2(24°C) - = 7.7(17°C) -
bR FE E R E(BOD) mg/L — - 1.1 - - 1.3 - - 0.6 - - - 0.7 -
) #(SS) mg/L — - 1 - 2 - - 1 1 - - 1 -
n— ¥V YE mg/L — - 0.5 AT - - 0.5 A i - - 0.5 A i - - - 0.5 A i -
7 /)— )V mg/ L — - 0.2 K5 - - 0.2 K - - 0.2 Aji - - - 0.2 A7l -
&l mg/ L — - 0.005 7 - - 0.005 Ak - - 0.005 At - - - 0.005 AT -
il mg/L — - 0.007 - - 0.010 - - 0.001 - - - 0.002 -
TR RS mg/L — - 0.1 A4t - - 0. 1 AT - — 0. 1A - - - 0.1 47t -
VAR~ T mg/L — - 0.1 A4 - - 0.1 A4 - - 0.1 A - - - 0.1 A4 -
ZZA=TN mg/L — - 0.2 A5 - - 0. 2 A i - - 0. 2 A i - - - 0.2 47t -
FIRIT L mg/L 0.003 — 0.0003 A - - 0.0003 A - - 0.0003 A5t - - - 0.0003 At -
BT mg/L mHEnenze - g - - R g - - iisng - - - R d -
& mg/L 0.01 — 0.005 775 - - 0.005 ik - - 0.005A4 ik - - - 0.005 i -
A iZa=0N mg/L 0.05 - 0.02 A7 - - 0.02Ai - — 0.02Fis - - - 0.02A4i -
fitt == mg/L 0.01 - 0.005 7 - - 0.0057 i - - 0.005 i — - - 0.005 A7 -
TR ER mg/L 0.0005 — 0.0005 A - - 0.0005 A< - - 0.0005 i - - - 0.0005 At -
T ILF VKR mg/L RSz nZE - g - - R g - - RS - - - RT3 -
B | ARV E T =L (PCB) mg/L, mEnnz e - REind - - REind - - RS g - - - RS d -
N ooz FL mg/L 0.01 - 0.001 ATt — - 0.001 AK:Jiii — - 0.001 At — - - 0.001 AV -
| Thorma=FL mg/L 0.01 - 0.0005 A5 - - 0.0005 A5 - - 0.0005 A - - - 0.0005 A -
Y =1=P Y mg/L 0.02 - 0.002 K15 - - 0.002 K5 - — 0.002 A - - - 0.002 K75 -
PUEAL R B mg/L 0.002 - 0.0002 A - - 0.0002 il - - 0.0002 i — - - 0.0002 At -
g | eIy mg/L 0.002 - 0.0002 A - - 0.0002 475 - — 0.0002 75 - - - 0.0002 A7 -
] 1,2-v7unx iy mg/L 0.004 - 0.0004 A - - 0.0004 A i - - 0.0004 A ik - - - 0.0004 At -
1,1->/upxFL mg/L 0.1 — 0.002 i - - 0.002 A3t - - 0.002 A — - - 0.002 At -
H 1,2-/anxFL mg/L 0.04 - 0.004 ATt - - 0.004 K Jiii — - 0.004 A — - - 0.004 A5 -
1,1,1-N) oozt mg/L 1 - 0.0005 A - - 0.0005 A< - - 0.0005 i - - - 0.0005 At -
1,1,2-N) 7oz mg/L 0.006 - 0.0006 A i - - 0.0006 A<t - - 0.0006 A7t - - - 0.0006 A<t -
1,3-Y/aaray mg/L 0.002 - 0.0002 A - - 0.0002 il - - 0.0002 i — - - 0.0002 At -
F75 A mg/L 0.006 — 0.0006 A - - 0.0006 A< - - 0.0006 i - - - 0.0006 At -
e S mg/L 0.003 - 0.0003 A - - 0.0003 A i - - 0.0003 A ik - - - 0.0003 At -
FA T T mg/L 0.02 — 0.002 i - - 0.002AYif - - 0.002 A — - - 0.002 At -
P mg/L 0.01 - 0.001 ATt — - 0.001 i — - 0.001 At — - - 0.001 AV -
R4 mg/L 0.01 - 0.002 i - - 0.002 A7k - - 0.002 Ak - - - 0.002 i -
ESES mg/L - - 0.01 AT - - 0.01 A - - 0.01 A - - - 0.01 A -
5o mg/L - - 0.15 - - 0.14 - - 0.20 - - - 0.16 -
FEEe M %2 38 e OVl A e %2 5 mg/L - - 1.0 - - 1.2 - - 0.89 - - - 0.91 -
1L, 4- A%V mg/L 0.05 - 0.005 i - - 0.005 A7 - - 0.005 i - - - 0.005A7ii -
PEFR mg/L — - 1.1 - - 1.2 - - 1.0 - - - 1.0 -
20 A mg/L — - 0.048 - - 0.045 - - 0.027 - - - 0.016 -
A A mg/L — 6.2 6.6 6.4 6.3 6.2 6.2 5.9 5.9 - 6.0 6.1 5.9 6.1
B E R mS/m — 19 17 17 17 17 17 17 17 - 17 17 17 17
HAFX U HA pg-TEQ/L 1 - - - - - - = - 0.0038 - - - -
£ I H 4H21H 5H17TH 6H16H TH19H 8H23H 9H22H 10H20H 11A11H 11H8H 12H15H 1H17H 2H14H 3H14H
b = H 45300 5A31H 629 H 7TH28H 9H6H 10H6H 10H29H 11H25H 12H15H 12H21H 1H28H 2H28H 3H28H




